
®  23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

12/08
  ®

 1 

 

*  Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride sa fely. 

Items Supplied > 

1 – FREEWAY BAR 

2 – WASHERS 

1 – M6 X 16mm BUTTONHEAD BOLT 

 

 

Application > 

YAMAHA V-STAR 250   2007-2019 

Instruction Manual > 

Before installing your new Cobra® Freeway bar, read all instructions carefully. 

1. Remove the M10 acorn nut and washer from the left and right lower footpeg studs and set nuts aside 
for later use. 

2. Remove M6 bolt from the horn mount at frame and set aside for later use. 

3. Install your new freeway bar with the lower mounts facing to the rear and slide lower mounting 
brackets over studs. Rotate top of freeway bar against frame and start supplied M6 x 16mm bolt into 
frame where horn was removed. (See Figures 1 & 2). 

4. Place (1) supplied washer and start M10 acorn nut removed in Step 1 onto both sides of freeway bar 
mount. Align freeway bar and tighten bolts. 

5. Install horn to top freeway bar mount with M6 bolt set aside in Step 2 and tighten. Check and make 
sure horn works properly.  

6. Torque all bolts to their factory specifications.  

 

 

 

 

 

 

 

 

 

 

 

 

Cobra freeway bars add style to your motorcycle. They are not designed to withstand a serious 

impact and may not protect you and/or your motorcycle in the event of a crash. 

 01-1205 Page 1 of 1 

 

           

LOWER FOOTPEG 
STUD ON STOCK 
FOOTPEG MOUNT 

FRONT OF MOTORCYLE 
FIGURE 1 

FIRST SLIDE 
BRACKET OVER 
STUD 

SECOND ROTATE 
BAR UP TO FRAME 

HORN 

FREEWAY BAR 
UPPER MOUNT 

FRAME 

FIGURE 2 


